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-1 1240] 750 1.6 120] N.D.(1.1) 50 | N.D.(1.3) 0] N.D.(1.0)
-2 1240] 2690 3.3 70| N.D.(1.1)] 150 2.1 -10] N.D.(0.9)
-3 1240] 2760 3.3 -90] N.D.(0.9)] 150 2.1 30] N.D.(1.1)
240] 9010 8.9 280] N.D.(1.3)] 290 3.0 40| N.D.(1.2)
16840] 2380 3.0l 750 1.7] 140 2.0 -90] N.D.(0.7)
270] 1510 2.3 260] N.D.(1.3) 80 24 60| N.D.(1.3)
11900 2300 2.9 170] N.D.(1.2)] 100 2.6 60| N.D.(1.3)
-A 119001 910 2.2 = - = - - -
-B 11900] 1000 2.3 - - - - - -
-C 11900] 760 2.0 - - - - - -
160] 1990 2.6 60] N.D.(1.1) - - - -
9100] 2230 2.8] -70] N.D.(0.9) - - - -
210] 660 1.5] -290] N.D.(0.7) - - - -
8240] 3390 3.8 40] N.D.(1.0) - - - -
340] 1310 2.1 10] N.D.(1.0) - - - -
3900] 860 1.71 -160] N.D.(0.9) - - - -
140 2101 N.D.(1.2) 150] N.D.(1.1) - - - -
3750] 480 N.D.(1.3) 280] N.D.(1.3) - - - -
90] 3340 3.8] 130] N.D.(1.1) - - - -
2870] 1420 2.2 190] N.D.(1.2) - - - -
|8 ND.(LD) - - N - - -
| 270 N.D.(1.2) . - . - - -
MFP (netrev/L) -
TA100-S9 TA98-S9 TA100-S9
TA98 TA100 +S9 N.D.
DOC Eo NHs*-N NO2- N+NOs- N MFP
E260 r=0.53 MFP
DOC Eazeo
DOC r=0.65 Ezo r=0.50 NHs*-N r=0.06 NO2- N+NOs- N r=0.34



MFP(net rev./L)

MFP(net rev./L)

24

1,1999

10000
8000
6000
4000
2000

0

10000

8000
6000

0.00 005 0.10 015

E

260

4000

.
2
2000 .‘3 |

'0

*

0 2

NO, -N+NO, -N(mg/L)

rev./L )

4

10000 :
8000 | J
6000 | 2
4000 - =
Y'Y [N
2000 | c‘of’ =
0 * o' ] ]
0 1 2 3 4 5
DOC(mg/L)
10000
<*
8000 =
6000 8
4000 2
[a
2000 =
*
0 1 1
0 1 2 3
NH4"-N(ma/L)
3
TA100-S9
210 9010( net
MFP
N.D.
MFP
MFP
3 13
7
Ames
41

MFP3000( net rev./L )

137-138,2004
()

152-154,2004

39(2)41 46 1997



